[ Efficiency vs vertpos |
~ 0.7

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02

.................................................

)

0.014%}
%
o L0FLHH gl | L%,
S [
B 4o E
& 1.1 | 1

e
L
¥
"
il
N
-

iy

BTt et L I 20 AR RS AL AR RARRN RARRE RRRRN RRRR)

_._Q _:.'.'
T

o o
O

-

S L I Y
.'"-"

STLL T
4~ HE=

1 2

[EnN
o
N
=
o
N

0
TP vert r (cr%)

—=— DQM_mKFIt_T1orignal

—e— DOM_mkFit_TTNEWnoMS-genMatch-chi200
Efficiend —— DQM_mKFit_TToriginal-106

—— DOM_mkFit_ TTNEWMS-genMatch-chi200

—n— i

Ratio
o P E
© = E (=]

20 30
TP vert z (cm)

2
&

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
@
(&}
£0.05
()
0.04
0.03
0.02
0.01

104

Ratio
N

Sim. PV z (cm)



	Contents
	Page 1


